plek nr A-poule W
1 | 15 |Wolven / Steringa 3
2 | 6 |Tijssen /v Holst 2
3 | 3 |Hegteler/ Smit 1
4 | 4 |Vrielink /v Linde 0
plek nr B-poule W
1 | 5 |Boomstra/Boomstra | 2
2 | 2 |Stevens/ Moraal 2
3 | 13 |Potkamp / Potkamp 2
4 | 16 |Riezeweide / Berends | O
plek nr C-poule W
1 | 12 |Koorman / Leijenaar 2
2 | 11 |Willemsen / Bakker 2
3 | 10 |[Kort / vd Werf 2
4 | 17 v Erven / de Wit 0
plek nr D-poule W
1 | 19 |Kinket / Teekman 3
2 | 9 |Eleveld/ Visser 2
3 | 7 |Septer/ Wijnen 1
4 | 14 [Zwiers [ Wiltink 0
plek nr E-poule W
1 | 1 |Logtenberg /v Dijk 3
2 | 8 |Zwiers / Logtenberg 1
3 | 18 |vd Werf/ Helsdingen | 1
4 | 20 |Overweg / Zwiers 1




A poule min= 1 max= 4

NRA[NAAM PlirPiv - PiTf P2|P2v - P2T}{ P3[P3v - P3TlwiN P|sAL Pf[plek|fos1| OS 2 plek A-poule W
1 |Wolven / Steringa 4113 - 12 3|13 - 542 (13 -10Q 3 |12 1fo| o 1 |Wolven/ Steringa 3
2 |Tijssen /v Holst 3113- 84|13 - 6 1(10-13}§ 2 | 9 2]|o0o]| o 2 |Tijssen /v Holst 2
3 [Hegteler / Smit 2(8 -13§ 1|5 -13§4|13- 44 1 |-4|3|o| o 3 |Hegteler / Smit 1
4 |Vrielink / v Linde 1112 - 13§ 2| 6 - 13§ 3[4 - 13§ O |-17] 4o | O 4 |Vrielink / v Linde 0
B poule mn= 5 ma= 8

NR B{N@am Pliriv - PiTf P2|P2v - P2T} P3[P3v - P3TwiN p|sAL Pf[plek|fos1| OS 2 plek B-poule w
1 |Potkamp/Potkamp (4|13 - 5§ 3|13 - 7§ 2|5 -13§ 2 [ 6 | 3|0 | -2 1 |Boomstra/ Boomstra| 2
2 |Boomstra/Boomstra| 3| 6 - 13§ 4 (13- 8§ 1(13- S5 2 | 6 1|0 | 1 2 |Stevens / Moraal 2
3 |Stevens / Moraal 2(13- 6§17 -13 4|13 -11 2 | 3 || 2]o0o| 1 3 |Potkamp / Potkamp | 2
4 |Riezeweide /Berends| 1|5 - 13 2|8 - 13} 3|11 - 13§ O |-15] 4o | O 4 |Riezeweide / Berends| O
C poule min= 9 max= 12

NRC|N@am Pl{piv - PiTl| P2|P2v - P2T|{ P3|P3v - P3Twin P[sAL P[|plekos1| OS 2 plek C-poule W
1 |Koorman/ Leijenaar | 4 [13 - 1 § 37 - 13§ 2|13 - 10 2 | 9 || 1]fo | 6 1 [Koorman/ Leijenaar | 2
2 |v Erven / de Wit 3|6 -13§ 4|12 -13§1(10- 13§ O |-21f 4o | O 2 |Willemsen / Bakker | 2
3 |Willemsen/Bakker | 2 (13- 6 § 1 (13- 745 -13f 2 | 5 2]o0| -2 3 |[Kort/vd Werf 2
4 |Kort / vd Werf 111 -13§42(13- 2§3113-5Q 2| 7 |3|0]| -4 4 |v Erven/ de Wit 0




D poule min= 13 max= 16

NRD{N@aMmM Pliriv - PiTf P2|P2v - P2T} P3[P3v - P3TwiN P|sAL Pf[plek|fos1| OS 2 plek D-poule W
1 |Eleveld / Visser 4113 -11 3|9 -13§2|13-5f{ 2| 6 |2(|0 0 1 [Kinket/ Teekman 3
2 |Septer / Wijnen 3|18 -134113- 215 -13}§ 1 |-2(3|o]| o 2 |Eleveld/ Visser 2
3 |Kinket / Teekman 2113 - 8§ 1|13 - 9§ 4|13- 5 3 (17| 1ffo]| o 3 |[Septer / Wijnen 1
4 |Zwiers / Wiltink 1111 - 13§ 2|2 - 13§ 3|5 - 13§ O [-21]4f o] o 4 | Zwiers [ Wiltink 0
E poule min= 17 max= 20

NR E|{N@am Pl|rPiv - PiTl| P2[P2v - P2Tl|l P3[P3v - P3T{win P|sAL Pf|plek]{os1 | OS 2 plek E-poule W
1 |vd Werf/ Helsdingen| 4|3 - 13 3|13 - 9 2(9 -13}§ 1 |-10f 3o | O 1 |Logtenberg /v Dijk 3
2 |Zwiers / Logtenberg | 3 (11 - 13§ 4 (0 - 13§ 1 (13- 9§ 1 |-11{ 2] 2| © 2 |Zwiers / Logtenberg | 1
3 [Overweg / Zwiers 2(13-11§ 119 -13 4|11 - 13§ 1 |-4|4|-2| o 3 |vd Werf / Helsdingen| 1
4 |Logtenberg / v Dijk 1(13- 3§2|13- Of3|13-11ff 3 |25|21o| O 4 |Overweg / Zwiers 1




lot|[naam rl|rlv rlt‘ ‘rz r2v r2t‘ ‘w sal [|gel|barr| pl [pou
1 |Logtenberg / v Dijk 3| 1 13 4| 6 13O0 |-19] O 20 | E
2 |Stevens / Moraal 20| 13 2 3| 6 13@1l| 4 0 7 B
3 [Hegteler / Smit 11|13 1 2 |13 6 @2| 19| O 3 A
4 (Vrielink / v Linde 19| 13 2 1] 13 c @2| 18 0 4 A
5 |Boomstra / Boomstra 18] 13 11 @ 19| 13 122 3( 0 6 B
6 |Tijssen /v Holst 17| 13 5 @18| 13 Om2| 21 O 2 A
7 |Septer / Wijnen 16| 13 O ml7| 3 13@g1| -6/ O 14 | D
8 [Zwiers / Logtenberg 15| 2 13 16| 7 13 0|-17| O 11 18 | E
O |Eleveld / Visser 14| 13 6 W15| 2 13@1| -4/ 0 13 | D
10 |Kort / vd Werf 13| 4 13 14| 13 7 W1| -3 0 12 | C
11 |Willemsen / Bakker 12| 13 O @m13| 7 13@g1l| -2/ O 11 | C
12 |Koorman / Leijenaar 11| 9 13 20| 13 14 1 21 O 2 9 C
13 [Potkamp / Potkamp 10| 13 4 @11 13 7 21 15| 0 5 B
14 |Zwiers / Wiltink 9| 6 13 10| 7 13 0|-13( O 16 | D
15 |Wolven / Steringa 8|13 2 9113 2 @2 22, 0 1 A
16 |Riezeweide / Berends 719 13 8 | 13 7 @1 2|0 1] 8 B
17 |v Erven / de Wit 6| 5 13 7 | 13 3 1 21 0 10 | C
18 (vd Werf / Helsdingen 5111 13@ 6| 0 13 0|-15| O 17 | E
19 |Kinket / Teekman 4| 2 13 5| 12 13 0|-12( O 15 | D
20 |Overweg / Zwiers 2| 2 13 12| 7 13go|-17{ O 21 19 | E




